SMIEE XKEBHAR—YLER HAFENABEHRUPAHZE SfI3411A158 B#

FHE-MR 1 F 2 % 3 4 7 5 % 6 N F asn | = RO2/MET RO2
2 B [ BF|xF|BF|xF|BF | %F|BF|xF|BF | 2F|BF|xF| EF [ %% | °F BF | &F | &8t
& El 1 2 0 1 2 1 1 5 4 2 1 0 9 1 20 A 10] 10 16 26
x Bl 3 0 1 1 0 2 2 3 0 0 2 4 8 10 18 3 6 Ji 13
v A —| 15 2 32 4 49 1 12 6 68 2 12 2 308 17 325 | A 132 371 19 390
=S — /N R Ji 0 6 1 10 4 4 3 15 6 12 1 54 21 81 Al 43 25 68
¥ Bk 48 & | 18 3 22 2 53 8 49 5 18 6 83 3 303 21 330 A 1] 322 16 338
JI2+r5F=X]| 0 0 4 0 2 4 3 6 Ji 8 5 12 21 30 51 A 32 8 6 14
iz £ 3 1 11 1 8 11 24 | 15 ] 16 4 11 12 13 50 123 A 32| 69 64 133
T = R 0 0 1 1 4 0 1 0 2 4 5 1 13 6 19 A 5| 12 9 21
DHRFFEE] 2 0 1 0 0 1 1 0 1 0 3 2 8 3 1 A 4 Ji 6 13
T F OE]| 2 1 3 0 4 2 2 3 0 1 3 1 14 8 22 5 11 3 14
&l Bl 3 2 5 3 Ji 6 13 2 8 10 | 13 9 49 32 81 A 18] 45 32 11
HE I 0 1 0 1 0 2 0 2 0 1 0 4 0 11 1 A 3 0 10 10
NL—rR—JL| 0 4 12 5 10 | 17 5 26 9 23 4 44 40 119 159 A 16] 33 110 143
K if:? 1 0 0 1 0 0 0 3 2 2 1 0 4 6 10 A 8 5 8 13
& = 1 3 0 5 1 2 0 5 0 4 3 2 5 21 26 A7 5 21 32
N RFR—IL] 1 0 0 0 1 0 5 3 Ji 4 6 6 20 13 33 A 9] 29 14 43
5 9 E —| 3 0 5 1 4 0 9 1 3 1 2 1 26 4 30 171 23 3 26
INEEU RV 6 6 5 20 6 20 9 23 6 30 9 18 41 117 158 A 1] 31 116 147
iz #] 0 0 2 0 0 0 0 0 0 0 2 0 4 0 4 3 3 0 3
= | 2 2 1 1 1 2 4 4 3 3 3 5 14 17 31 A 35| 19 24 43
LAYy 0 0 0 0 0 0 0 0 0 0 2 0 2 0 2 A 4 2 0 2
‘/7 kAR—JL] O 0 0 0 0 0 0 1 0 4 0 1 0 6 6 A 4 0 Ji 7
=1 g1 68 | 27 | 111 60 | 162 | 83 | 204 | 116 ] 229 | 115 ]| 242 | 134 || 1,016 535] 1,551] A 25] 1,054 522] 1,576

()R B #| 678|639 ] 687|649 701 | 717 | 731 [ 707 | 756 | 674 | 743 | 668 || 4, 296] 4, 054] 8, 350 831 4,192| 4,075] 8,267
AHEBxA) 110.0] 4.2 116.2] 9.2 123.1]{11.6]27.9({16.4]30.3|17.1]32.6/20.1]] 23.6 [ 13.2 | 18.6 | A 0.5] 25.1 | 12.8 | 19.1
A H = 1.2 12. 8 17.3 22.3 24. 1 26. 6 18. 6 A 0.5 19. 1

roz Ak ey §8.24.30117.7]6.7(24.7][12.5]28.4]13.8]32.1]19.4]37.1]19.8]] 25.1 | 12.8 | 19.1 SHI2 EE

RO2 A [ =R 6.3 12. 1 18.5 21.4 26. 1 28.7 19. 1 SEEX 1. 7764

rol AR Bz [11.4] 4.4 [21. 1] 11. 1]26.5[13. 7]34. 0] 20. 2] 41. 1| 24. 0]43. 1]{23.9]] 29.8 | 16.2 | 23.1 fiEE %R - 5994 (4254)

RO1 A [ =R 7.8 16. 1 20. 4 27. 4 32. 8 33.5 23. 1 BILEE

mo Ak [12.0] 6.5 [18.5] 9.3 [29.3]16.2]40. 7[23. 4]43. 0] 26. 8] 44. 3] 25.3]] 31.3 | 18.1 | 24.9 élé%’i 2,150

H30 A [ 3 9.3 14. 1 23. 1 32. 3 34. 9 34. 9 24. 9 HEEL : 6614 (4624)




